1. A 4 ¥ 2E} A= =B

2. B8 7%
O F4712r : 19. 3. (&) ~ 11. 23(E) 971 €
O T4 SKATEAR 7| H(EZH 7
AMEA S5 SHIH 2424 (BolF, €3 d) SKI=EE=7 7%

O EHFE

S LI Al 2t Bzl H 1

ERMEHA S X (5M~7H) 09:30~10:30 100 » xSl AT, SeA
E= 10:30~12:00 80 F7HE o8
Mol=(ada{144 0|4 12:00~13:30 70 * golg AP

=] =]
e e
% SEATs ANgRe A Afe SH0E 0ad 4%

O Z7t3lH] : 1%1(10%HY), FrUE /WEF w3l 25 o] F W] #FF
SIHIg R - £33 1010-1031-4851/ <l 55 A =B 35
O AlZHH

O

2) IMex . F Eg.ig]o}

T_— 1 . R

2
(s
)
e
>
ol
)
in)
M
N
!
o
Iy
e
1%
El
2
o

O AAZIZF : 19. 2. 13(F) ~ 2. 20(57) 18A7HA.

3. =209 ¥ *IUE
O¥M==stal 7iaL @ 19. 3. (&)
o=l HHE 2Eet At A=
OeHIYITA(E71%) =dd Fo
OALZZ=X2EF ALY, Av|E PAL LEE 29
O=Uths], =AU A7ad, d=s Fdof A3 &A=



